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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.

1) unbearable 2) verbose 3) sturdy 4) lethargic

Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate

The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and

unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected

Immediately overcome by for the wrong he had done, I lowered him to the floor

and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found

out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

I the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks.

1) exhilarated 2) assailed 3) countered 4) perplexed

| Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark your answer sheet.

Scuba divingis a form of' underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving, (11) rely either on breath-hold or on air pumped from
the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit, in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) to allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
our answer sheet.

16-

17-

18-

19-

20-

Passegel

As the major clean-up of the Thames Tideway in London proceeded in the mid-1970s, it
became apparent that despite all the effort and expenditure being put in, sporadic pollution of
the river arising from the surcharge of old combined sewers in summer storms would be heavy.
and would be unacceptable. The problem was that fish were returning to the Tideway and it
was possible that restoration of the salmon fishery would be feasible. However, when heavy
summer storms overloaded the old London sewers after a long period of dry weather, the sewer
overflows caused a sharp and deep oxygen sag in the Tideway. On several occasions this had
resulted in the destruction of fish. The remedy of resewering much of the older areas of
London, other than on a long timescale. was not and is still not economically feasible. The
novel remedy selected was to fit out a barge with a pressure-swing plant to produce 95%

. -1 .. .. ¢ . .
oxygen from the air, (10 tonnes day ) and to inject this into the river right over the point of
maximum oxygen sag.This arrangement worked satisfactorily and the barge, affectionately
named the “Thames Bubbler 1s now replaced by a much larger purpose-built vessel

: < -1 ; : 2 i
producing 30 tonnes of oxygen day . This has prevented any serious destruction of fish,
including salmon which have now been restored to the river.

you can guess from context that “ sporadiec poliution” refers to something which happens

1) constantly 2) in sewers 3) in rivers 4) infrequently
you may guess from the contex that the underlined word “sag” means ----------- !
1) decline 2) overflow 3) reaction 4) surcharge
The problem to be solved by fitting out a barge was ----------- ;

1) resewering older areas of London

2) the returning of the fish to the tideway

3) the possibility of the salmon fishery restoration
4) avoiding summer overflows

The word “this” in the las sentence refers to --—----—---- »

1) oxygen 2) sag 3) Tideway 4) dry weather
What is the most appropriate title for this passage?

1) Salmon Fishery 2) Resewering London Tideway

3) destruction of fish in Thames 4) Oxygenation of the Thames Tideway
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Passage 2

When a material is subjected to a varying load. changes in the material can occur which result
in damage, even if the load is considerably lower than the ultimate strength of the material.
Changes in load can in unfavourable conditions lead to crack formation and fracture. This type
of damage is called fatigue. The rate of attack can be considerably increased if corrosion takes
place simultaneously. This phenomenon is called corrosion fatigue.In this case no special
corrosive medium is necessary as with stress corrosion cracking.

The time to fracture is dependent on the number of load changes (N) and the magnitude of

the load (S). Related values of these parameters for fracture can be recorded in a so-called
Wohler curve. The result is, however, influenced by the frequency of load changes and the
form of the load curve (sine, triangular or square wave).
With certain metals, e.g. steel, fatigue fracture does not take place irrespective of the number of
load changes. providing only pure fatigue occurs. and the load is kept below a given value.
Which is called the fatigue limit. With corrosion fatigue, however, there seems to be no
pronounced fatigue limit.

The cracks which appear with fatigue and corrosion fatigue are usually transgranular,
straight, unramified and wide. With corrosion fatigue several usually appear together in
colonies, but with 'pure' fatigue there are often only a few cracks.

We understand from the first paragraph that changes in materials —----------
1) are dependent on the load 2) do not depend on the load

3) can be determined by the load 4) may stabilize the load

In which of the following sentences does the word “pronounced”(line 16) have the same
meaning?

1) The letter “b”in “bomb” is not prounounced

2) They were pronounced husband and wife.

3) He remained faithful to his pronounced duty.

4) He had a pronounced tendency to finish his food quickly.

According to the passage, which statement is true?

1) Fractures may occur even in favorable conditions.

2) The cracks due to fatigue are usually ramified.

3) A material exposed to changing loads may undergo damages.

4) A Wohler curve is in the form of a square wave.

According to the passage, which statement is NOT necessarily true?

1) Corrosion enhances fatigue.

2) Changes in load lead to unfavorable conditions.

3) The time to fracture depends on two parmetors.

4) Corrosion fatigue and “pure” fatigue differ in their number of cracks

The best title for this passage is ------------ .

1) Corrosion 2) Corrosion Fatigue 3) Fatigue 4) metals in stress
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PART D:

Choose the best choose and the mark in your answer sheet.

Engineers use some techniques to translate a concept in their mind into a physical object.

In this sentence, the underlined word is closest in meaning to

1) convert

2) express

3) rewrite

4) understand

The equation gives the stress required to propagate a crack in a brittle material — In this
sentence, the underlined word means ----------- -

1) spread

Because of the ------

2) predict

prove it experimentally.

1) initiation

Nozzle is the name for a/an

suitably
1) appliance

2) increment

2) conduit

The force in the direction of flow

the blank suitably
1) applied

2) enacted

3) locate

3) prominence

4) derive

of the Griffith theory for metallurgists, they have naturally to

4) dispersion

----- suitable for an isentropic flow. Fill in the blank

3) equation

4) profile

by the fluid on the solid is called drag. Fill in

3) exercised

4) exerted
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